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clc; %
clear all; % Ossu,uasu).so,?rdmpa,s
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best_so far=[];
Average fitness=[]; \/
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if 1t==1
best_so_far(it)=max_ﬁt;
final_sol=opt_sol:
elseif max_fit>b est_so_far(it-1)
best_so_far(it)=max_ﬁt;
fmal_sol=opt_sol;

else

best_so_far(it)= best_so_far(it-1);
end
Avera ge_fitness(it)=ave_fit;
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[mating Eool]=g_roulette_wheel(Population,N,selectlon _probability);
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[new _Pop]=g_crossover(mating_pool,Pc,N,L);
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[Population]=g_mutation(new_pop.Pm,N,L);

end ] N

display('final Solution ~ optimum fitness');

result=[final_sol,best so_far(end)]

)fflglllr{:TpEl:Et,(x,best_so_far, k',x, Average_fitness,"-k);
xlabel('Generation');

ylabel('Fitness Function’)
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real_val=[];

STED(1)=1;

for i=2:m+1 : S
STED(1)=STED(-!1 +BS(@ 1);

end
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for j=1:m
x=BS(j)-1:-1:0;
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for i=1:N | .
gene=Population(i,STED(j): STED(+1)-1);% pgj9a5,5 s 31 yaiie 4 0 s
Var_norm=sum(Pow2x.*gene)/(2"BS(j)-1);% pxie Jbo i jlaie
real_val(i,j)=Lo(j)+(Hi(j)-Lo(j))*Var_norm;% s idi> jlaie
end
end
return;
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function[selection_probability,fit,ave_fit,max_fit, opt_sol]=fit_eval(real_val,N,m)
for i=1:N
x=real_val(i,:);
fit()=(1+cos(2*pi*x(1)*x(2)))*exp(-(abs(x(1))+abs(x(2)))/2);% Sl lade ke

end

selection_probability=fit/sum({it);% Sl Jlazs! aulo
ave_fit=mean(fit);% Casor  Sild Jawgio dlxe
[max_fit,max_loc]=max(fit);% Sl Aoy Jlde e
opt_sol=real_val(max_loc,:);

return;
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%%%% g_roulette_wheel.m %%%%

YoaiS (oo Sl 3 5807 g 9 St slin y Jio 0y Wy g9l sl 1y ually el 5 crl
function [mating _pool]=g_roulette_wheel(Population,N,selection _probability)
cd €1)=selection_probability(1); Yocirez roms Jlais! dculxe
for i=2:N

cgf(i)=cdf(i-1)+selection _probability(i);
en
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for i=1:N

g=rand;

for j=1:N

if q<=cdf(j)

mraet;llz;g —Pool(i, :)=Population(j, 55

~end .




end
return;
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function [new _pop]=g_crossover(maiing _poeol,Pc,NL);

parent_num=randperm(N): |

for j=1:2:N

pointerl= parent_num (1):% Vallg & bgs 0 0 lat
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pointer2= parent_num (j+1):%

cut_point= randint(1,1,L):%

offI=mating_pool(pointerl,:);%

off2=mating_pool(pointer2,:); %
ifrand <Pc %

temp off2; |
off2(cut_point+1:end)=offl(cut _point+1:end);
off1(cut_point+1:end)=temp(cut_point+1:end);
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new_pop(j,:)=off1;% oS Jie wozr Comex 4, <y o)A
new pop(j+1,:)=oft2;
end
return;
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ﬁinctfnd[population]=g_mutat1on(new __})op,Pm,Pm i"‘}’ i
ll ‘ nd(N L)<=PII'1; % o 'al:.-r.il l, S Jo
mask=ra :

Population=xor(new _pop,mask);

return;
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